MATH180C: Introduction to
Stochastic Processes Il

Today: Asymptotic behavior of
renewal processes
Next: PK 7.5, Durrett 3.1, 3.3

Week 7:

* HW6 due Monday, May 22 on Gradescope
» Midderm 2
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Exomple : Age ®placement policies (PK, p.363)

Se{:t{no\:— componevx’c's Lifelime has distribution Hunction F
J

- oomPonevac is re‘;\acaé
(A) either when it fals |
() or ofter re_mc—h(h3 age T (qul\
whichever occurs first

- replacements (&) and (B) hove different costs:
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Exomple : Age mplacement policies (PK, p.363)
Notation: X; - lifetime of (-th comPoheV\JC ) Fx: ()= F (&)
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Here we hove Two  renewal| processes

(1) renewal process N®*) jev\eroctecl B7 cenewel £{mes (WC)E\
(2) renewal pfocess Q () 3ev\em’ceé bj lntertenewal £imes (\/i\;
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Example : Age replacement policies (PK | 5. 363)

ComPu‘te the distrcbwtion of the (nterrenewal {imes for N (&)
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Exomple : Aqe rep\ucemen{’ Foh‘c(es (P¥, p. 363)

ComPu’ce the distrcbution of the (nterrenewol {imes for © (¢).
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Exomple : Age mplacement policies (PK, p.363)

Now we coan comPutc the lbmj-ruw\ rate of the

raP\uce_mavﬁs due 1o failures
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